m(ptu)

Efficiency-weighted yields

Signal asymmetries

[MeV/c?] Signal Misid. back. Comb. back. Apg [%)] Agg (%] Acp %]
D = rtrputus
< 525 90+£17 233+£25 108 422 2+ 20 £2 —28+ 20 £2 174+ 20 £2
525-565 — — — - — -
565-780 326 £23 253 +24 145+21 81+ 17.1+0.7 74+ 71+0.7 129+ 7.1 £0.7
780-950 141414 159415 89+14 7T+ 10 +£1 —14+ 10 +1 17+ 10 £1
950-1020 244416 63+13 43+9 3.1+£6.5£0.6 1.2+ 64 +0.5 75+ 6.5 £0.7
1020-1100 258 +14 3349 44+9 0.9+ 5.6 £0.7 1.4+ 5.5 +£0.6 9.9+ 5.5 +£0.7
> 1100 - - - - - —
Full range 1083 £41 827 +42 579 £ 39 3.3 £3.7 £06 —0.6 £3.7 £0.6 4.9 £38 £0.7
DO K+*K-ptu~
< 525 3248 5+13 124420 13+ 26 £4 9+ 26 £3 —33+ 26 £4
525-565 — — — - — -
> 565 74+£9 39+7 48 £8 1+ 12 £1 22+ 12 =1 13+ 12 £1
Full range 110+13 49+12 181+19 0+11 +£2 9 +11 +£1 0+11 £2




